
https://www.pass2lead.com/1z0-419.html
2024 Latest pass2lead 1Z0-419 PDF and VCE dumps Download

 

 

 

1Z0-419Q&As

Implementation Application Development Framework

Pass Oracle 1Z0-419 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1z0-419.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-419 VCE Dumps | 1Z0-419 Study Guide | 1Z0-419 Braindumps                                1 / 3

https://www.pass2lead.com/1z0-419.html
https://www.pass2lead.com/1z0-419.html
https://www.pass2lead.com/1z0-419.html


https://www.pass2lead.com/1z0-419.html
2024 Latest pass2lead 1Z0-419 PDF and VCE dumps Download

QUESTION 1

Which three options does an entity object automatically implement? (Choose three.) 

A. primary key functionality based on any column in the database that is marked as a primary key 

B. B. not-null functionality based on any column in the database that is marked as not null 

C. attribute precision based on column size 

D. all table check constraints 

E. any table triggers 

Correct Answer: ABC 

 

QUESTION 2

Consider a development organization divided into two teams, one developing ADF Business Components and related
methods, and one developing the view and controller layers. What two steps would the Business Components team
perform to deliver the results of their work to the other team\\'? (Choose two.) 

A. Share the root ApplicationModulelmpI file on the file system or other shared location. 

B. Create an ADF Library JAR file for the model project 

C. Create a path to the ADF Library JAR file in Tools > Manage Libraries 

D. Add the ADF Library JAR to the ViewController project 

E. Share the ADF Library JAR file on the file system or other shared location 

Correct Answer: BD 

 

QUESTION 3

Where could you write code to change the color of a JSF input text component if the value of the salary field on the
same page is higher than a fixed value? (Choose the best answer.) 

A. in a backing bean 

B. in the validation for the view object\\'s salary attribute 

C. in the CSS file that defines the skin for the application 

D. in a custom validator defined at the field level 

Correct Answer: D 
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QUESTION 4

Which three resources can be secured by using the declarative features of ADF security? (Choose three) 

A. task flows 

B. pages that are not contained within a task flow 

C. attributes defined in entity objects 

D. specifi c rows of data 

E. stack traces 

F. PL/SQL procedures 

Correct Answer: ABC 

 

QUESTION 5

Consider a case where an application does not respond as predicted when a user submits data. Where would you set a
breakpoint to debug the issue? (Choose the best answer) 

A. the value binding for the iterator on the pagedef for the view 

B. a view activity that is used to determine where to send the user 

C. the partialTriggers property of the data bound component in the view 

D. the Apply Request Values phase of the life cycle 

Correct Answer: A 
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